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B. Com. EXAMINATION
(For Batch 2013 & Onwards)
(Third Semester)
BUSINESS STATISTICS
BC-302

Time : Three Hours Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1-is
compulsory.

1. Answer in brief : 8x2=16
(i) Define statistics in singular sense.

(i) The median of a few number of
observations is given to be 48. The six
items whose values are 35, 38, 45, 49,
54-and 59 were added to given series,
what will be the new median. '
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(iii) How does . Skewness  differ from
- dispersion ?

(iv) How will you test the reliability of the
coefficient of correlation ?

(v) | Wh_at do you mean by Splicing ?

(vi) Distinguish between  trend and
¢Xponential trend. '

(vii) What is Xurtosis 2

(viii) Explain Standard Error of the Estimate.

" “Statistics are numerical statement of faets,

but all facts numerically stated are not
statistics.” Clarify tﬁis statement and point out
briefly which numerical statement of facts are
statistics ? 16

The median and mode of the following
distribution of 230 workers are known to be
Rs. 335 and 34 respectively. Three frequency

values from the table however are missing,.

Find the missing valyes. : 16
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Given that 2p,q, = 250; Zpocjo = 150,Paasche’s
Index No. = 150, Dorbish-Bowley’s Index
No = 145. | |

Find out Fisher’s Index No. and Marshall-
Edgeworth Index No. 16

Find a straight line trend to the following data
by the method of least square taking 1997 as
origin. Estimate the sales for 2002 and monthly

increase in sales ?

Year | Sales (Rs. Lakh)

1995 45

1996 56

1997 78

1998 46

1999 75 :

Differentiate between Karl Pearson’s and
Bowley’s measures of skewness. Which of the

two measures is better and why ? 16




9. (a) Mention any thrée properties  of
Regression Coefficient.

(b) Two random variables have the regression
equations 3x + 2y - 26 = 0 and
6x + y — 31 = 0. Find the mean values
and coefficient of correlation between X
and Y. '

(Hindi Version)
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